2.      Weighted Average Cost of Capital (WACC) Case Study
a.      Prepare responses to the questions posed by the “What’s on the Web?” exercises 12.1, 12.2 (in 12.2 you can find the beta for Dell by going to the web site yahoo.finance.com under Stock Price History), 12.3 (for simplicity assume that the company’s long-term debt consists of $200 million in long term bonds and $300 million in debentures, assume the book value and market value of the Dell debentures  are the same and  that the coupon rate is also the yield to maturity). You can figure out the market value of the $200 million Dell bonds by multiplying the book value by the Price column value found  in www.bondsonline.com  and 12.4 found at the end of Chapter 12 of the text. Your end product of these exercises will be the Dell Computer’s WACC. Include exhibits that show all of the calculations used to calculate Dell’s WACC.
b.      Prepare a 350-word summary describing the implications of WACC in relation to Dell’s goal of shareholder wealth maximization. Include a brief discussion of how internal and external factors can impact the organization’s WACC.  If you do not have time for this, don’t worry about it, but even a few words would be nice. I can always add to them!
WACC Case Study- Learning Team assignment

12.1 Book Value of debt at 1/30/04           ______?________

        Book Value of equity at 1/30/04        ______?________  
Breakdown of long-term debt $200 million 6.55% fixed rate senior notes

                                                 $300 million 7.10 fixed rate senior debentures 
12.2 Cost of Equity.  You wish to calculate the cost of equity for Dell.  Go to finance.yahoo.com and enter the ticker symbol “DELL”  Now follow the “Profile” link.  What is the most recent stock price listed for Dell?  What is the market value of equity, or market capitalization?  How many shares of stock does Dell have outstanding? What is the most recent annual dividend?  Can you use the dividend discount model in this case?  What is the beta for Dell?  Now go back to finance.yahoo.com and follow the “Bonds” link.  What is the yield on 3-month treasury bills?  Assuming a 9 percent market risk premium, what is the cost of equity for Dell using CAPM?

Recent Stock Price:  _____?_________ (most recent price used )
Market Capitalization:  ____?___________ (number of shares outstanding  x stock price) 

Outstanding Shares of Stock: ________?________  
Market Capitalization:  ______?__________
Recent Annual Dividend: _________________
Can you use the dividend discount model:  ____?_____________ 
What is the BETA:    _______?___________  
Yield on 3-month Treasury Bills:   __?___
Cost of Equity:      


RE = Rf + B(.market risk premium -Rf) = ______?_________
12.3 Cost of Debt.  You now need to calculate the cost of debt for Dell. Go to www.bondsonline.com and follow the “Bond Search” link and the “Corporate” link.  Enter Dell as the company and find the yield to maturity for each of Dell’s bonds.  What is the weighted average cost of debt for Dell using the book value weights and using the market value weights?  Does it make a difference if you use book value weights or market value weights?

YTM  for 6.55% coupon rate bonds is 3.419 with a price of 110.636 x 200,000,000 = 221,272,000 market value 
	Type
	Issue
	Book Value
	Book Value Weights
	Costs*
	%
	
	Market Values
	Market Value Weights
	Costs*
	%

	
	
	
	
	
	
	
	
	
	
	

	Corp
	DELL COMPUTER CORP
	$200,000,000
	0.40
	6.55
	___?___
	
	$221,272,000
	?
	6.55
	?

	Corp
	DELL COMPUTER CORP
	$300,000,000
	0.60
	7.10
	?
	
	$300,000,000
	?
	7.10
	?

	
	
	$500,000,000
	1.00
	WACC = 
	?
	
	$521,272,000
	1.00
	WACC =
	?


*using the fixed coupon rate as cost instead of YTM
12.4 WACC
Using book values:   ?
Using market values:  ?
